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QUESTION 1

Trypsinogen, an enzyme secreted by the pancreas, is activated into trypsin in the duodenum by which enzyme?
A. protease

B. hydrochloric acid

C. enterokinase

D. pepsin

Correct Answer: C

QUESTION 2
Spinal muscular atrophy (SMA) is an autosomal recessive disorder.

Knowing this information, what are the chances that a child will not have the recessive allele if both of his parents are
carriers?

A. 100%
B. 0%
C. 50%
D. 25%

Correct Answer: D

QUESTION 3

Which statement regarding ball and socket joints is true?

A. Ball and socket joints are multi-axial joints, which are highly mobile, allowing movement in multiple axes and planes.
B. Ball and socket joints are uni-axial joints, which are highly mobile, allowing rotation around a central axis.

C. Ball and socket joints are bi-axial joints, which are mobile, allowing movement in two planes.

D. Ball and socket joints are uni-axial joints, which are mobile, allowing movement in a single axis and plane.

Correct Answer: A

QUESTION 4
The volume of air that remains present in the lungs, even after forceful expiration/exhalation, is called and
is about liters.
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A. residual volume, 0.5 liters
B. vital volume, 2 liters

C. residual volume, 1.2 liters
D. tidal volume, 2.4 liters

Correct Answer: C

QUESTION 5

Which of these patterns of the periodic table is not correct?

A. In metallic groups, reactivity increases down a group.

B. Atomic size increases down a group and across a period (from left to right).
C. In non-metallic groups, reactivity decreases down a group.

D. Densities and melting points increase down any group.

Correct Answer: B
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